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The Sign of Four

After having seen the classic Sherlock Holmes story of the Sign of Four, one can truly appreciate the intelligence and wit of Sherlock Holmes and his ability to almost single handedly solve a mystery that lingers in the minds of victims and confuses authorities such as the police. The clues presented in the story and their relation to the crime it self at first may seem like two separate factors, however, when Sherlock Holmes uses his reasoning to tie these clues to what may have or has happened in the crime, the connection between the clues and the crime become plausible, hence solving the mystery. However, in the Sign of Four, there are some issues that go unresolved which in turn lead to a slight sense of confusion by the time the viewer has finished the film. Although Mr. Small confesses to his involvement in the crime, there is nothing said as to what happens to Smalls’ aborigines partner and what is made of the treasure. 


Once Mr. Small finishes his life story and reveals his involvement in the crime, he is taken away. However, I remain slightly confused as to why Mr. Small had never taken his share of the treasure. Even the diamond that, at one point, Mr. Small held in his hand, which apparently was the second most precious diamond in the world, would have been worth a sum of money which would have kept Mr. Small a decently wealthy man for the rest of his life, especially if he had pocketed a few more of the gems and stones found in the treasure chest. Had he done this, he would have never had to get involved with any crime he had been convicted of. He could have lived in London very comfortably without having to kill anybody. Also, how does Sherlock Holmes discover where the Aurora is located? There is no scene that shows the boys returning to him to tell him where it is located. What happens to Mr. Small? Is he jailed? Sentenced to death? And who are the other two men that were in the Aurora with Mr. Small and the aborigines man? 


The aborigines man that Mr. Small was involved with is shot and killed by the police during the boat chase nearing the end of the movie. From there on, nobody has anything to do with the aborigines man anymore. He simply floats off and sinks. Then, after the police and Mr. Watson open the treasure chest only to find it empty, Mr. Small says that the treasure lies with the aborigines man who was shot and killed. How is it that the treasure could have been with him? He could not have had all of those gems, diamonds, necklaces, and stones on him physically or he would have immediately sunk to the bottom of the river after being shot and falling off the boat. Instead, he floats as the police boat passes him. He could not have been carrying a key of any sort because that key would have gone to the box, which was empty. There is only one possible answer: he must have been carrying a map of some sort, or some document describing the whereabouts of the treasure, or some bank document with information to an account containing the monetary value of the treasure. 

